ors® THOR NAS
osewtll Thank you for purchasing a Rosewill Case.
Please read the instruction manual before use and retain for future reference.

| PRODUCT OVERVIEW

Product Diagram

140mm
PWM Fan

Side Panel

Front Panel

|

Side Panel

L

Dust Filter

Dimensions: 510 x 232 x 530 mm (W x H x D)

510 mm

y
A

ww ogs




Accessory Kit

=
&) % ) S
Screw-A (6-32 x 6 mm) Screw-B (M3 x 5 mm) Screw-C (6-32 x 5 mm)
Moth
PSU/Bracket 25" SSD e gard
=/
=
Screw-D (KB 5x10 mm) g Standoff
+5
PSU/Bracket Nud Motherboard
—s -e
Cable Tie
Cable
Management Bracket

|INSTALLATION GUIDE

Please remove all packaging materials before proceeding to disassembly/assembly.

1. Disassemble Side Panels and Front Panel
Remove the side panels first, then remove the front panel (Figure 1).

\

AAANNARMARAN




2. Install Power Supply
Please make sure that the holes of power supply aim at case cooling vents when installing
power supply (Figure 3).

2]

©00000660 _ coscccosmoe

®

oeBeseceoos

9

3. Lock HDD

Unscrew hard disk enclosure and install HDD with screws.




4. Lock SSD

Unscrew hard disk enclosure and install SSD with screws.

4]

7

————
=><

S
=<

coccoccodoo

®

ecocceocee

®©

ccocoeces

5. Install Motherboard

Make sure that the motherboard aims at the copper cylinder and fix motherboard with screw
Screw-B.

Note: If the copper pillar of the case drops off please fix it with screw "Standoff" copper
cylinder.

(5]




6. Install VGA Card

Remove the rear cover plate, make sure the VGA card aims at the motherboard slot and then
fix VGA card and case with Screw.
VGA card bracket is eqipped, which can be adjusted according to VGA card location.

(6]

= 1727212711/

ﬁi?i l’i l?i l;i I?i l.-’i ,:’! l:’i ,:’i I:’i I?i o

Install Graphics Card

I r

l.-'l l?i’l-'l l?! J° l:'i l?i

L




7. Install Water Cooling Radiator

Installing water cooling radiator on the top panel.
Secure the water cooling radiator with screws and put the panel back.

i,:’i,?i l.-'i I?i l?i l:’i ’?lﬂfﬂ/ 4

W rtr

8. Install Fan

Installing Fan on the front and back of the case.

LI l.-'ﬁ l?i l?ﬁ l.-'i 1?5 l.-'; l?ﬁ l?ﬁ I.-'i /750/j




|1/0 PANEL

30862080 [] OW E SW OW E LE D
3888858 f R + R
33383
505050601
Sodececes
53823080
£0C0a8005
283838888
Eec008000
5308080
£occagocs
203330808
Leccieces
88355085
20533
33333080
2033303
5050n08e
£005a8000
25833584
233382
22585060
2080302
32503080
82008005
55303085
£a5008000 .
3285308ed
cecceeoes
353050804
£9eca8ecs
38303080
8033308
50323080
2083303
80500080
508038
20385
5030808
20555
52880085
803058005
38383888
5533525
cooe08080d
3033508
£e82080250
02620303
2553585
9058308

Model Name

THOR NAS

Specifications

Form Factor Full Tower

Motherboard Compatibility E-ATX / ATX / Micro ATX and below
Color Black

External 5.25" Drive Bays 11

External 3.5" Drive Bays 0

Internal 3.5" Drive Bays 11

Internal 2.5" Drive Bays 2

Expansion Slots 10

Front Ports 1 x USB 3.2 Type-C / 1 x USB 3.0/ Audio
Fan Options Front: 3 x 120mm, 3 x140mm

Top: 3 x 120mm

Rear: 1x 120mm, 1 x120mm (1 x140mm Included)
Radiator Options Top: 360mm

Rear: 120mm

Max GPU Length 400 mm
Max CPU Cooler Height 185 mm
Max PSU Length 240 mm

giosewill®

=]
[=]a =

[=]

Technical Support Information techsupport @ rosewill.com 1-800-575-9885
Please register your product at www.rosewill.com for complete warranty information and support for your product.

THOR NAS



